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Assume the missing data wherever required. All Parts of the same question should be Marks [ e
_Answered at one place in sequence.
Part — A: Answer any two questions. [30]
¢ exhaust valve of a diesel engine has a lift of 62.8mm. It is operated by a cam to give 15 | CO5| L3

cloidal motion during opening and closing periods each of which corresponds to 120° of .
rotation. The follower is provxded with a roller of 20mm diameter and its line of stroke is
ial. Minimum radius of the cam is 25mm. Draw the cam profile. Also determine the
maximum velocity and acceleration of the follower during outward stroke, if the speed of the
cam is 300rpm clockwise.
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with roller reciprocating follower. The axis of the follower 15 [CO5| L3
 cam. Particulars of the cam and follower are the following:

ﬁmﬂm return with uniform veloclty during the
1 anti-clock wise direction.
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end is actuated by a cam 15 | CO5| L3
-adistance of 30mm in one

s at rest for the

t radius of the cam
and retardation on both







i
e Ll e (sl
Lo UTIoN  0F KinempTics  OF MACHINES.
1€ ME 42 -
ISME42,



















fat-B
g b
[ Lhate & Aot e e ,:% %ngpg
X ‘0

" ’ | , aa Qr?glt 0(""(} n
o %D ool an g @%-ﬁ: S

-------



?‘% W i 3}\&%“’&!% o Leadh "haJt‘v“ W& st o aamas ,U,,
L e eyl I o e

WW‘{:’{.M ’

0&&\%‘\%\“ M\WH—AMLQ%%W&-FW o
C% .,QS}B‘S‘&:S Q&U\/%V'\'f\:-o

; ‘,b%wﬂdﬁ%w:\kcﬁx

S e TR

e o B wﬁbﬂ%&iﬁ%“‘ﬂg:

Vou LSOl L >k =0

L) Alead -~ w, BDW2R =0

m' 120 leps AE & BF o n-n @wa\fouu@ A &g &g WC’D&@
S

Ko, JCAE =cl & LDEF=F

=D W, AM.A_Q _wLR/b%%T_@
AT &Y




‘@%%VMWWW ﬁmmwwﬁ@mﬁh
odth e of Hhe nafig geax 4 e oo dogh § el

O AMbodum- Tt e wdid ke o dofh aboue foe chele . T
srardaed walue i \wedocde . M&H% o









